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| | T,=25 TO-92
Tstg—— -65~150
T—— 150
Pc 1w
Vepo—— — 600V 1— E
Veeo — 400V = c
3— B
VEBo — v
Ic DC 1A
B T.=25
BVceo — 600 \% Ic=1mA 1e=0
BVceo — 400 \% Ic=10mA 18=0
BVEBo — 9 % le=1mA 1c=0
IcBo — 10 M A | Ves=500V, 1e=0
lEBO — 10 M A | V=9V, Ic=0
HFE 10 40 Vce=10V, 1c=0.1A
VCE(satl — 0.5 % 1c=0.2A, 18=40mA
VCE(sat2 1.0 % 1c=0.5A, 18=100mA
VCE(sat3 3 V 1c=0.8A, 18=200mA
VBE(sat) — 1.2 v Ic=0.5A  18=100mA
fr 8 MHz | Vce=10V, Ic=0.1A,T=1MHz
ton 1.1 MS [y Vee=125V, Ic=1A
TsT6 4.0 M-S } 181=0.2A, 182=-0.2A
tr 0.7 M S RL=125Q
i
H1 H2 H3 H4 H5
10-16 14-21 19-26 24-31 29-40
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